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EVALUATION OF LOGARITHMS
AND SIMPLE LOGARITHMIC EQUATIONS

TABLE–SELECTION GAME

Select one correct answer for each of the questions in the test and press the
Finish button at the end. The answers will be validated automatically.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



FINISHSCORE

Mark the correct value of a logarithm or mark the correct solution of a logarithmic equation.

1. log 1
100 = x −210212 −210212 −210212 −210212

2. log3 x = 3 279318 279318 279318 279318

3. log 1
3
x = −4 81−8112181 81−8112181 81−8112181 81−8112181

4. log 1
9
x = −1
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5. log9 x = 1
2 3181381 3181381 3181381 3181381

6. ln x = 0 1010e 1010e 1010e 1010e

7. log 10000 = x 4352 4352 4352 4352

8. log12
1

144 = x −21
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Wow, what a wonderful job! Just be careful about
an alcohol party before an exam. You could

damage your brain cells.

Great, you are very good at this!Perfect, keep it up!You are the champion!That was excellent!Good job, but you are no Einstein yet!That was close! Next time you will
shine like a star.

You made some mistakes,
but you still deserve praise.

A small step remains,
next time will be glorious!

You are so close!
You just made a misclick.

To be average, or not to be average?
That is the question.

You can do better! You have to work harder!Wasn’t the worst, but next time eat a piece of
chocolate and it will definitely be better.

Hang in there, there is space for improvement.Making mistakes is better than faking perfection.You made it,
but there’s still room for improvement.

You avoided an F, but that doesn’t mean you don’t
have to study more.

Hey, it could be worse, right?Could be worse!That didn’t end up very well.
You should study more.

For this test - the goose is in the oven!
Try another test.

Most of your answers
were unfortunately like π — irrational.

You’ll be better next time.

What a calamity!There was a time
Einstein couldn’t count to 10 either.

Have you ever seen the way a chicken flies?
You solve math problems that way. . .

Correct answers:




